Round 1 Elimination Trial:-

Does it have sufficient historical data?
Does it pass the “Clean Elliott Wave Look and Feel Test™?

Does the Long Term count start at an appropriate place with an

acceptable rating?

Do the first two charts (long term and medium term) synchronize?

Elliott Rules

1) Wave 2 does not fall below the starting price of wave 1.

2) Wave 3 is not the shortest wave by price movement
when compared to wave 1 and wave 5.

3) Wave 4 does not overlap the range of wave 1.
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Can interchange with:- IM & ED
Appear:- wl of IM (only rising)
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Can interchange with:-
FL,D3, T3&CT

wB <wC <2.5*wB
wC <wD <2.5*wC
wD <wE <2.5*wD
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